

THE FEKETE-SZEGÖ PROBLEM FOR CERTAIN CLASS OF UNIFORMLY ANALYTIC FUNCTIONS

R. M. EL-ASHWAH, M. E. DRBUK

ABSTRACT. In this paper we used a family of linear operator defined on the space of univalent functions to introduce and investigate a new subclass related to uniformly starlike functions and we solve the Fekete-Szegö problem for this class.

1. INTRODUCTION

Let \mathcal{A} denote the class of the functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1)$$

which are analytic in the open unit disc

$$U = \{z : |z| < 1\}$$

Let $f \in \mathcal{A}$ be given by (1) and g be given by

$$g(z) = z + \sum_{n=2}^{\infty} b_n z^n. \quad (2)$$

The Hadamard product (or convolution) $(f * g)$ is defined by

$$(f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n = (g * f)(z). \quad (3)$$

For two functions $f(z)$ and $F(z)$, analytic in U , we say that $f(z)$ is subordinate to $F(z)$, written symbolically as follows:

$$f \prec F \text{ in } U \text{ or } f(z) \prec F(z) (z \in U),$$

if there exists a Schwarz function $\omega(z) \in \Omega$, which (by definition) is analytic in U with

$$\omega(0) = 0 \text{ and } |\omega(z)| < 1 \quad (z \in U)$$

2010 *Mathematics Subject Classification.* Mathematics Subject Classification:30C45.

Key words and phrases. Parabolic starlike functions, Uniformly convex functions, convolution, Fekete-Szegö problem.

Submitted July 23, 2015.

such that

$$f(z) = F(\omega(z))(z \in U).$$

Indeed it is known that

$$f(z) \prec F(z)(z \in U) \implies f(0) = F(0) \text{ and } f(U) \subset F(U).$$

In particular, if the function $F(z)$ is univalent in U , we have the following equivalence

$$f(z) \prec F(z)(z \in U) \iff f(0) = F(0) \text{ and } f(U) \subset F(U) \text{ (see [23]).}$$

A function f in \mathcal{A} is said to be uniformly convex in U if f is a univalent convex function along with the property that, for every circular arc γ contained in U , with center ξ also in U , the image curve $f(\gamma)$ is a convex arc. The class of uniformly convex functions is denoted by UCV (see [13]). It is well known [21] that $f \in UCV$ if and only if

$$Re \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} \geq \left| \frac{zf''(z)}{f'(z)} \right| \quad (z \in U),$$

and the corresponding class UST is defined by the relation that $f \in UST$ if and only if

$$Re \left\{ \frac{zf'(z)}{f(z)} \right\} \geq \left| \frac{zf'(z)}{f(z)} - 1 \right| \quad (z \in U).$$

Uniformly starlike and convex functions were first introduced by Goodman [13] and then studied by various other authors (e.g. [6, 16, 25]).

Also, a function $f \in \mathcal{A}$ is said to be in the class of uniformly convex functions of order γ and type β denoted by $UC(\beta, \gamma)$ (see [1] and [5]) if

$$Re \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} \geq \beta \left| \frac{zf''(z)}{f'(z)} \right| + \gamma \quad (\beta \geq 0, 0 \leq \gamma < 1; z \in U), \tag{4}$$

and is said to be in a corresponding class denoted by $SP(\beta, \gamma)$ if

$$Re \left\{ \frac{zf'(z)}{f(z)} \right\} \geq \beta \left| \frac{zf'(z)}{f(z)} - 1 \right| + \gamma \quad (\beta \geq 0, 0 \leq \gamma < 1; z \in U). \tag{5}$$

We note that

$$f(z) \in UC(\beta, \gamma) \iff zf'(z) \in SP(\beta, \gamma) \tag{6}$$

Geometric interpretation. Let $f \in SP(\beta, \gamma)$ and $f \in UC(\beta, \gamma)$ if and only if $\frac{zf'(z)}{f(z)}$ and $1 + \frac{zf''(z)}{f'(z)}$, respectively, takes all the values in the conic domain $\mathcal{R}_{\beta, \gamma}$ which is included in the right half plane given by

$$\mathcal{R}_{\gamma, \beta} = \left\{ w = u + iv \in \mathbb{C} : u > \beta \sqrt{(u-1)^2 + v^2} + \gamma, \beta \geq 0 \text{ and } \gamma \in [0, 1) \right\}, \tag{7}$$

with $p(z) = \frac{zf'(z)}{f(z)}$ or $p(z) = 1 + \frac{zf''(z)}{f'(z)}$ and considering the functions which map U onto conic domain $\mathcal{R}_{\beta, \gamma}$, such that $1 \in \mathcal{R}_{\beta, \gamma}$, we can write the conditions (4) or (5) in the form:

$$p(z) \prec P_{\beta, \gamma}(z) \tag{8}$$

Denote by $\mathcal{P}(P_{\beta, \gamma})$ ($\beta \geq 0, 0 \leq \gamma < 1$), the family of functions p , such that $p \in \mathcal{P}$ and $p \prec P_{\beta, \gamma}$ in U , where \mathcal{P} denotes the well-known class of Caratheodory functions

and the function $P_{\beta,\gamma}$ maps the unit disk conformally onto the domain $\mathcal{R}_{\gamma,\beta}$ such that $1 \in \mathcal{R}_{\beta,\gamma}$ and $\partial\mathcal{R}_{\beta,\gamma}$ is a curve by the equality

$$\partial\mathcal{R}_{\gamma,\beta} = \left\{ w = u + iv \in \mathbb{C} : u^2 = \left(\beta\sqrt{(u-1)^2 + v^2} + \gamma \right)^2, \beta \geq 0 \text{ and } \gamma \in [0, 1] \right\}.$$

From elementary computations we see that $\partial\mathcal{R}_{\beta,\gamma}$ represent the conic sections symmetric about the real axis. Thus $\mathcal{R}_{\beta,\gamma}$ is an elliptic domain for $\beta > 1$, a parabolic domain for $\beta = 1$, a hyperbolic domain for $0 < \beta < 1$ and a right half plain $u > \gamma$ for $\beta = 0$.

The functions that play the role of extremal functions of the class $\mathcal{P}(P_{\beta,\gamma})$, where obtained in [1] as follows:

$$P_{\beta,\gamma}(z) = \begin{cases} \frac{1+(1-2\gamma)z}{1-z}, & \beta = 0, \\ 1 + \frac{2(1-\gamma)}{\pi^2} \left(\log \frac{1+\sqrt{z}}{1-\sqrt{z}} \right)^2, & \beta = 1, \\ \frac{1-\gamma}{1-\beta^2} \cos \left\{ \left(\frac{2}{\pi} \cos^{-1} \beta \right) i \log \frac{1+\sqrt{z}}{1-\sqrt{z}} \right\} - \frac{\beta^2-\gamma}{1-\beta^2}, & 0 < \beta < 1, \\ \frac{1-\gamma}{1-\beta^2} \sin \left(\frac{\pi}{2K(t)} \right) \int_0^{\frac{u(z)}{\sqrt{t}}} \frac{1}{\sqrt{1-x^2}\sqrt{1-t^2x^2}} dx + \frac{\beta^2-\gamma}{1-\beta^2}, & \beta > 1, \end{cases} \tag{9}$$

where $u(z) = \frac{z-\sqrt{t}}{1-\sqrt{tz}}$, $t \in (0, 1)$, $z \in U$ and t is chosen such that $\beta = \cosh \frac{\pi K'(t)}{4K(t)}$, $K(t)$ is Legendre's complete elliptic integral of the first kind and $K'(t)$ is the complementary integral of $K(t)$. The Jacobi elliptic integral (or normal elliptic integral) of first kind (see [37]) is defined by

$$\mathcal{F}(\omega, t) = \int_0^\omega \frac{dx}{(1-x^2)(1-t^2x^2)} \quad (0 < t < 1).$$

The function $\mathcal{F}(1, t) = K(t)$ is called the complete elliptic integral of the first kind. The following properties of $K(t)$ and $K'(t)$ are well known in [15].

$$\lim_{t \rightarrow 0^+} K(t) = \frac{\pi}{2}, \quad \lim_{t \rightarrow 1^-} K(t) = \infty.$$

Moreover, the function

$$\nu(t) = \frac{\pi}{2} \cdot \frac{K'(t)}{K(t)} \quad (t \in (0, 1))$$

strictly decreases from ∞ to 0 as t moves from 0 to 1. Therefore every positive number β can be expressed as $\beta = \cosh(\nu(t))$ for some unique $t \in (0, 1)$.

For $\beta = 0$ obviously $P_{0,\gamma}(z) = 1 + 2(1-\gamma)z + 2(1-\gamma)z^2 + \dots$, for $\beta = 1$ (compare [21] and [31]) $P_{1,\gamma}(z) = 1 + \frac{8}{\pi^2}(1-\gamma)z + \frac{16}{3\pi^2}(1-\gamma)z^2 + \dots$, by comparing Taylor series expansion in [16], we have for $0 < \beta < 1$

$$P_{\beta,\gamma}(z) = 1 + \frac{1-\gamma}{1-\beta^2} \sum_{n=1}^\infty \left[\sum_{\ell=1}^{2n} 2^\ell \binom{B}{\ell} \binom{2n-1}{2n-\ell} \right] z^n,$$

where $B = \cos^{-1} \beta$ and for $\beta > 1$,

$$P_{\beta,\gamma}(z) = 1 + \frac{\pi^2(1-\gamma)}{4\sqrt{t}(\beta^2-1)K^2(t)(1+t)} \times \left[z + \frac{4K^2(t)(t^2+6t+1) - \pi^2}{24\sqrt{t}K^2(t)(1+t)} z^2 + \dots \right].$$

We consider the linear operator $\mathcal{J}_{\lambda,\ell}^m(a, c, A) : \mathcal{A} \rightarrow \mathcal{A}$ which was introduced by Raina and Sharma [27]

$$\mathcal{J}_{\lambda,\ell}^m(a, c, A)f(z) = z + \frac{\Gamma(c + A)}{\Gamma(a + A)} \prod_{n=2}^{\infty} \left(1 + \frac{\lambda(n-1)}{1+\ell}\right)^m \frac{\Gamma(a + nA)}{\Gamma(c + nA)} a_n z^n, \tag{10}$$

where

$$\varphi_{n,m}(\lambda, \ell, a, c, A) = \frac{\Gamma(c + A)}{\Gamma(a + A)} \left(1 + \frac{\lambda(n-1)}{1+\ell}\right)^m \frac{\Gamma(a + nA)}{\Gamma(c + nA)}, \tag{11}$$

with, $m \in \mathbb{Z} = \{\dots, -2, -1, 0, 1, 2, \dots\}$ and $A > 0, \lambda \geq 0, \ell > -1, a, c \in \mathbb{C}$ be such that $Re(c - a) > 0$ and $Re(a) > -A$.

We may point out here that some of the special cases of the operator defined by (10) can be found in [2, 4, 6, 7, 8, 9, 14, 10, 32, 33].

Now, we define new subclasses of univalent functions by the linear operator $\mathcal{J}_{\lambda,\ell}^m(a, c, A)(z)$ as follows:

Definition 1. For $m \in \mathbb{Z} = \{\dots, -2, -1, 0, 1, 2, \dots\}$ and $A > 0, \lambda \geq 0, \ell > -1, a, c \in \mathbb{C}$ be such that $Re(c - a) > 0$ and $Re(a) > -A$, a function $f(z) \in \mathcal{A}$ is said to be in the class $SP_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$ if it satisfies the following condition:

$$Re \left\{ z \frac{\left(\mathcal{J}_{\lambda,\ell}^m(a, c, A)f(z)\right)'}{\mathcal{J}_{\lambda,\ell}^m(a, c, A)f(z)} \right\} \geq \beta \left| z \frac{\left(\mathcal{J}_{\lambda,\ell}^m(a, c, A)f(z)\right)'}{\mathcal{J}_{\lambda,\ell}^m(a, c, A)f(z)} - 1 \right| + \gamma$$

$$(\beta \geq 0, 0 \leq \gamma < 1; z \in U). \tag{12}$$

We note that by specializing the parameters $m, \lambda, \ell, a, c, A, \beta$ and γ the class $SP_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$ reduces to several well-known subclasses of analytic functions. These subclasses are:

- (i) $SP_{\lambda,0}^m(a, a, A, \beta, \gamma) = \beta\text{-}SP_{\lambda,0}^{m,0}(\gamma)$ (see [26]);
- (ii) $SP_{0,0}^0(a, a, A, 0, 0) = S^*$ (see [12]);
- (iii) $SP_{1,0}^1(a, a, A, 0, 0) = CV$ (see [12]);
- (iv) $SP_{0,0}^m(a, a, A, 0, \gamma) = ST^m(\gamma)$ (see [32]);
- (v) $SP_{1,0}^m(a, a, A, \beta, 0) = \beta\text{-}SP^m$ (see [16]);
- (vi) $SP_{0,0}^1(a, a, A, 1, 0) = SP$ (see [31]);
- (vii) $SP_{1,0}^1(a, a, A, 1, 0) = UCV$ (see [12, 21]);
- (viii) $SP_{1,0}^1(a, a, A, \beta, 0) = \beta\text{-}UCV$ (see [18]);
- (ix) $SP_{0,0}^1(a, a, A, \beta, 0) = \beta\text{-}SP$ (see [17]);
- (x) $SP_{0,0}^1(a, a, A, \beta, \gamma) = \beta\text{-}SP(\gamma)$ (see [1]);
- (xi) $SP_{\lambda,0}^1(a, a, A, \beta, \gamma) = \beta\text{-}UCV(\gamma)$ (see [1]);
- (xii) $SP_{0,0}^0(a, a, A, 0, \gamma) = S^*(\gamma)$ (see [30]);
- (xiii) $SP_{0,0}^1(a, a, A, 0, \gamma) = CV(\gamma)$ (see [30]).

Also, we note that:

- (i) $f(z) \in SP_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$ if and only if $\mathcal{J}_{\lambda,\ell}^m(a, c, A)f(z) \in SP(\beta, \gamma)$ (see [10]);
- (ii) Using the Alexander type relation, we define the class $UC_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$ as follows:

- $f(z) \in UC_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$ if and only if $zf'(z) \in SP_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$;
- (iii) $UC_{\lambda,\ell}^m(a, c, A, \beta, \gamma) \subset SP_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$ (see also [10]).

In 1933, Fekete and Szego [11] proved that

$$|\mu a_2^2 - a_3| \leq \begin{cases} 4\mu - 3; \mu \geq 1, \\ 1 + \exp^{-\frac{2\mu}{1-\mu}}; 0 \leq \mu \leq 1, \\ 3 - 4\mu; \mu \leq 0 \end{cases} \tag{13}$$

holds for function $f \in S$ and the result is sharp. The problem of finding the sharp bounds for the non linear functional $|\mu a_2^2 - a_3|$ of any compact family of functions is popularly known as the Fekete-Szego problem. Several known authors at different time have applied the classical Fekete- Szego to various classes to obtain different sharp bounds for example Keogh and Merkes in 1969 [19] obtained the upper bound of the Fekete-Szego funcnal $|\mu a_2^2 - a_3|$ for some classes of univalent functions S (see also [28, 29, 34, 35]).

To prove our results, we will need the following lemmas:

Lemma 1. [3]. *It can be verified that Rieman map $P_{\beta,\gamma}$ of U region \mathcal{R} , satisfying $P_{\beta,\gamma}(0) = 1$ and $P'_{\beta,\gamma}(0) > 0$, is given by*

$$P_{\beta,\gamma}(z) = 1 + P_1 z + P_2 z^2 + \dots \quad (z \in U) \tag{14}$$

then

$$P_1 = \begin{cases} \frac{2(1-\gamma)\theta^2}{1-\beta^2}; & 0 \leq \beta < 1, \\ \frac{8(1-\gamma)}{\pi^2}; & \beta = 1, \\ \frac{\pi^2(1-\gamma)}{4\sqrt{t}(\beta^2-1)K^2(t)(1+t)} & \beta > 1, \end{cases} \tag{15}$$

and

$$P_2 = \begin{cases} \frac{(\theta^2+2)}{3} P_1; & 0 \leq \beta < 1, \\ \frac{2}{3} P_1; & \beta = 1, \\ \frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} P_1 & \beta > 1, \end{cases} \tag{16}$$

where

$$\theta = \frac{2}{\pi} \cos^{-1} \beta, \tag{17}$$

and $K(t)$ is Legendre's complete elliptic integral of the first kind

Lemma 2. [3, 25]. *Let $h(z) \in \mathcal{P}$ given by*

$$h(z) = 1 + c_1 z + c_2 z^2 + \dots \quad (z \in U).$$

Then $|c_n| \leq 2$ ($n \in \mathbb{N} = \{1, 2, 3, \dots\}$),

$$|c_2 - c_1^2| \leq 2 \text{ and } |c_2 - \frac{1}{2}c_1^2| \leq 2 - \frac{1}{2}|c_1|^2.$$

Furthermore, we introduce the following functions which will be used in the discussion of sharpness of our results.

Now, we define the function $\phi_{n,m}(\lambda, \ell, a, c, A; z)$ by

$$\phi_{n,m}(\lambda, \ell, a, c, A; z) = z + \sum_{n=2}^{\infty} \varphi_{n,m}(\lambda, \ell, a, c, A) z^n,$$

where $\varphi_{n,m}(\lambda, \ell, a, c, A)$ is given by (11) and

$$\phi_{n,m}(\lambda, \ell, a, c, A; z) * \phi_{n,m}^{(t)}(\lambda, \ell, a, c, A; z) = \frac{z}{1-z}.$$

Also, define the function g in U by

$$g(z) = \frac{1}{z} \left[\phi_{n,m}^{(*)}(\lambda, \ell, a, c, A; z) * \left\{ z \exp \left(\int_0^z \frac{P_{\beta,\gamma}(\xi) - 1}{\xi} d\xi \right) \right\} \right] \quad (z \in U). \quad (18)$$

Finally, we consider the following extremal function $\mathcal{K}(z, \theta, \tau)$ in the class $SP_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$ by

$$\begin{aligned} \mathcal{K}(z, \theta, \tau) &= \phi_{n,m}^{(*)}(\lambda, \ell, a, c, A; z) * z \exp \left(\int_0^z \left[P_{\beta,\gamma} \left(\frac{e^{i\theta} \xi (\xi + \tau)}{1 + \tau \xi} \right) - 1 \right] \frac{d\xi}{\xi} \right) \\ &(0 \leq \theta \leq 2\pi; 0 \leq \tau \leq 1). \end{aligned} \quad (19)$$

Note that $\mathcal{K}(z, 0, 1) = zg(z)$ defined by (18) and $\mathcal{K}(z, \theta, 0)$ is an add function.

The object of this paper, we obtain the Fekete-Szegö inequalities for the class $SP_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$.

2. MAIN RESULTS

Unless otherwise mentioned we shall assume throughout the paper that

$m \in \mathbb{Z}, \beta \geq 0, 0 \leq \gamma < 1, A > 0, \lambda \geq 0, \ell > -1, a, c \in \mathbb{C}$ be such that $Re(c - a) > 0$ and $Re(a) > -A$.

Theorem 1. *Let the function $f(z)$ given by (1) be in the class $SP_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$ ($0 \leq \gamma < 1; 0 \leq \beta < 1$).*

Then

$$|\mu a_2^2 - a_3| \leq \begin{cases} \frac{2(1-\gamma)\theta^2}{(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left(\frac{2(1-\gamma)\theta^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - \frac{(7-6\gamma-\beta^2)\theta^2}{6(1-\beta^2)} - \frac{1}{3} \right); & \mu \geq \eta_1, \\ \frac{(1-\gamma)\theta^2}{(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)}; & \eta_2 \leq \mu < \eta_1, \\ \frac{2(1-\gamma)\theta^2}{(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left(\frac{(7-6\gamma-\beta^2)\theta^2}{6(1-\beta^2)} - \frac{2(1-\gamma)\theta^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu + \frac{1}{3} \right); & \mu \leq \eta_2, \end{cases} \quad (20)$$

where $\varphi_{k,m}(\lambda, \ell, a, c, A)$ and θ are given by (11) and (17), respectively, and

$$\eta_1 = \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{12(1-\gamma)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left(\frac{5(1-\beta^2)}{\theta^2} + (7-6\gamma-\beta^2) \right), \quad (21)$$

$$\eta_2 = \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{12(1-\gamma)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left((7-6\gamma-\beta^2) - \frac{(1-\beta^2)}{\theta^2} \right). \quad (22)$$

Proof. Let the function $f(z)$ is given by (1) be in class $SP_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$, then there exists a function $\omega \in \mathcal{A}$ satisfies

$$\omega(0) = 0 \text{ and } |\omega(z)| < 1 \quad (z \in U),$$

such that

$$\frac{z \left(\mathcal{J}_{\lambda,\ell}^m(a, c, A) f(z) \right)'}{\mathcal{J}_{\lambda,\ell}^m(a, c, A) f(z)} = P_{\beta,\gamma}(\omega(z)) \quad (z \in U), \quad (23)$$

where $P_{\beta,\gamma}$ is defined by Lemma 1.

Define the function $h \in P$ as follows:

$$h(z) = \frac{1 + \omega(z)}{1 - \omega(z)} = 1 + c_1 z + c_2 z^2 + \dots \quad (z \in U). \quad (24)$$

It follows that

$$\omega(z) = \frac{c_1}{2} z + \frac{1}{2} \left(c_2 - \frac{c_1^2}{2} \right) z^2 + \dots \quad (25)$$

and

$$\begin{aligned} P_{\beta, \gamma}(\omega(z)) &= 1 + P_1 \left\{ \frac{c_1}{2} z + \frac{1}{2} \left(c_2 - \frac{c_1^2}{2} \right) z^2 + \dots \right\} \\ &\quad + P_2 \left\{ \frac{c_1}{2} z + \frac{1}{2} \left(c_2 - \frac{c_1^2}{2} \right) z^2 + \dots \right\}^2 + \dots \\ &= 1 + \frac{P_1 c_1}{2} z + \left\{ \frac{1}{2} \left(c_2 - \frac{c_1^2}{2} \right) P_1 + \frac{1}{4} c_1^2 P_2 \right\} z^2 + \dots \end{aligned} \quad (26)$$

Then, by using (23) and (26), we have

$$a_2 = \frac{P_1}{2\varphi_{2,m}(\lambda, \ell, a, c, A)} c_1, \quad (27)$$

and

$$a_3 = \frac{1}{2\varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ \frac{P_1}{2} \left(c_2 - \frac{c_1^2}{2} \right) + \frac{1}{4} c_1^2 P_2 + \frac{1}{4} c_1^2 P_1^2 \right\} \quad (28)$$

Putting the values of P_1 and P_2 for $0 \leq \beta < 1$ from Lemma 1 in (27) and (28), we obtain

$$a_2 = \frac{(1-\gamma)\theta^2}{\varphi_{2,m}(\lambda, \ell, a, c, A)(1-\beta^2)} c_1, \quad (29)$$

and

$$a_3 = \frac{(1-\gamma)\theta^2}{2(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ c_2 - \frac{1}{6} \left(1 - \frac{(7-6\gamma-\beta^2)\theta^2}{(1-\beta^2)} \right) c_1^2 \right\}. \quad (30)$$

From (29) and (30), we have

$$\mu a_2^2 - a_3 = \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ \left[\frac{4(1-\gamma)\theta^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu + \frac{1}{3} \left(1 - \frac{(7-6\gamma-\beta^2)\theta^2}{(1-\beta^2)} \right) \right] c_1^2 - 2c_2 \right\}. \quad (31)$$

Therefore, using (31), we get

$$|\mu a_2^2 - a_3| \leq \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ \left[\frac{4(1-\gamma)\theta^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - \frac{5}{3} - \frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} \right] |c_1|^2 + 2|c_1^2 - c_2| \right\}. \quad (32)$$

If $\mu \geq \eta_1$, then by applying Lemma 2, we obtain

$$\begin{aligned} |\mu a_2^2 - a_3| &\leq \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ \left[\frac{4(1-\gamma)\theta^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - \frac{5}{3} - \frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} \right] 4 + 4 \right\} \\ &= \frac{2(1-\gamma)\theta^2}{(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ \frac{2(1-\gamma)\theta^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - \frac{1}{3} - \frac{(7-6\gamma-\beta^2)\theta^2}{6(1-\beta^2)} \right\}, \end{aligned} \quad (33)$$

which is the first part of assertion (20).

Next, if $\mu \leq \eta_2$, we can write (31) as

$$\begin{aligned} |\mu a_2^2 - a_3| &= \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda,\ell,a,c,A)} \left| \left[\frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} - \frac{1}{3} - \frac{4(1-\gamma)\theta^2\varphi_{3,m}(\lambda,\ell,a,c,A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda,\ell,a,c,A)} \mu \right] c_1^2 + 2c_2 \right| \\ &\leq \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda,\ell,a,c,A)} \left\{ \left(\frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} - \frac{1}{3} - \frac{4(1-\gamma)\theta^2\varphi_{3,m}(\lambda,\ell,a,c,A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda,\ell,a,c,A)} \mu \right) |c_1^2| + |2c_2| \right\} \end{aligned} \tag{34}$$

By applying Lemma 2, we obtain

$$\begin{aligned} |\mu a_2^2 - a_3| &\leq \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda,\ell,a,c,A)} \left\{ \left(\frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} - \frac{1}{3} - \frac{4(1-\gamma)\theta^2\varphi_{3,m}(\lambda,\ell,a,c,A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda,\ell,a,c,A)} \mu \right) 4 + 4 \right\} \\ &= \frac{2(1-\gamma)\theta^2}{(1-\beta^2)\varphi_{3,m}(\lambda,\ell,a,c,A)} \left\{ \left(\frac{(7-6\gamma-\beta^2)\theta^2}{6(1-\beta^2)} + \frac{1}{3} - \frac{2(1-\gamma)\theta^2\varphi_{3,m}(\lambda,\ell,a,c,A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda,\ell,a,c,A)} \mu \right), \right\} \end{aligned}$$

which is the third part of assertion (20).

$$\begin{aligned} |\mu a_2^2 - a_3| &= \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda,\ell,a,c,A)} \left\{ \left[\frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} + \frac{2}{3} - \frac{4(1-\gamma)\theta^2\varphi_{3,m}(\lambda,\ell,a,c,A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda,\ell,a,c,A)} \mu \right] c_1^2 + 2 \left(c_2 - \frac{c_1^2}{2} \right) \right\} \\ &\leq \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda,\ell,a,c,A)} \left\{ \left| \frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} + \frac{2}{3} - \frac{4(1-\gamma)\theta^2\varphi_{3,m}(\lambda,\ell,a,c,A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda,\ell,a,c,A)} \mu \right| |c_1|^2 + 2 \left| c_2 - \frac{c_1^2}{2} \right| \right\}. \end{aligned} \tag{35}$$

For $\eta_2 \leq \mu \leq \eta_1$, we have

$$\left| \frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} + \frac{2}{3} - \frac{4(1-\gamma)\theta^2\varphi_{3,m}(\lambda,\ell,a,c,A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda,\ell,a,c,A)} \mu \right| \leq 1.$$

By applying Lemma 2 to (35), we obtain

$$|\mu a_2^2 - a_3| \leq \frac{(1-\gamma)\theta^2}{(1-\beta^2)\varphi_{3,m}(\lambda,\ell,a,c,A)}, \tag{36}$$

which the second part of (20). Each of the estimates in (20) is sharp for the function $\mathcal{K}(z, \theta, \tau)$ given by (19). \square

Theorem 2. Let the function $f(z)$ given by (1) be in the class $SP_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$ ($0 \leq \gamma < 1; \beta = 1$).

Then

$$|\mu a_2^2 - a_3| \leq \begin{cases} \frac{8(1-\gamma)}{\pi^2\varphi_{3,m}(\lambda,\ell,a,c,A)} \left(\frac{8(1-\gamma)\theta^2\varphi_{3,m}(\lambda,\ell,a,c,A)}{\pi^2\varphi_{2,m}^2(\lambda,\ell,a,c,A)} \mu - \frac{4(1-\gamma)}{\pi^2} - \frac{1}{3} \right); & \mu \geq \delta_1, \\ \frac{4(1-\gamma)}{\pi^2\varphi_{3,m}(\lambda,\ell,a,c,A)}; & \delta_2 \leq \mu < \delta_1, \\ \frac{8(1-\gamma)}{\pi^2\varphi_{3,m}(\lambda,\ell,a,c,A)} \left(\frac{4(1-\gamma)}{\pi^2} - \frac{8(1-\gamma)\varphi_{3,m}(\lambda,\ell,a,c,A)}{\pi^2\varphi_{2,m}^2(\lambda,\ell,a,c,A)} \mu + \frac{1}{3} \right); & \mu \leq \delta_2, \end{cases} \tag{37}$$

where $\varphi_{k,m}(\lambda, \ell, a, c, A)$ is given by (11) and

$$\delta_1 = \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{2\varphi_{3,m}(\lambda, \ell, a, c, A)} \left(1 + \frac{5\pi^2}{24(1-\gamma)} \right), \tag{38}$$

$$\delta_2 = \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{2\varphi_{3,m}(\lambda, \ell, a, c, A)} \left(1 - \frac{\pi^2}{24(1-\gamma)} \right). \tag{39}$$

Proof. The proof of Theorem 2 is similar that to the proof of Theorem 1, with putting the values of P_1 and P_2 for $\beta = 1$ from Lemma 1 in (27) and (28), we obtain

$$a_2 = \frac{4(1-\gamma)}{\pi^2 \varphi_{2,m}(\lambda, \ell, a, c, A)} c_1,$$

and

$$a_3 = \frac{2(1-\gamma)}{\pi^2 \varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ c_2 - \frac{1}{6} \left(1 - \frac{24(1-\gamma)}{\pi^2} \right) c_1^2 \right\}$$

An easy computation shows that

$$\begin{aligned} |\mu a_2^2 - a_3| &= \frac{(1-\gamma)}{\pi^2 \varphi_{3,m}(\lambda, \ell, a, c, A)} \left| \left(\frac{16(1-\gamma) \varphi_{3,m}(\lambda, \ell, a, c, A)}{\pi^2 \varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu + \frac{1}{3} - \frac{8(1-\gamma)}{\pi^2} \right) c_1^2 - 2c_2 \right| \quad (40) \\ &\leq \frac{(1-\gamma)}{\pi^2 \varphi_{3,m}(\lambda, \ell, a, c, A)} \left[\left| \frac{16(1-\gamma) \varphi_{3,m}(\lambda, \ell, a, c, A)}{\pi^2 \varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - \frac{5}{3} - \frac{8(1-\gamma)}{\pi^2} \right| |c_1^2| + 2 |c_1^2 - c_2| \right]. \end{aligned}$$

If $\mu \geq \delta_1$, then by applying Lemma 2, we obtain

$$|\mu a_2^2 - a_3| \leq \frac{8(1-\gamma)}{\pi^2 \varphi_{3,m}(\lambda, \ell, a, c, A)} \left(\frac{8(1-\gamma) \varphi_{3,m}(\lambda, \ell, a, c, A)}{\pi^2 \varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - \frac{1}{3} - \frac{4(1-\gamma)}{\pi^2} \right), \quad (41)$$

which is the first part of assertion (37).

Next, if $\mu \leq \delta_2$, we can write (40) as

$$\begin{aligned} |\mu a_2^2 - a_3| &= \frac{(1-\gamma)}{\pi^2 \varphi_{3,m}(\lambda, \ell, a, c, A)} \left| \left(\frac{8(1-\gamma)}{\pi^2} - \frac{1}{3} - \frac{16(1-\gamma) \varphi_{3,m}(\lambda, \ell, a, c, A)}{\pi^2 \varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu \right) c_1^2 + 2c_2 \right| \\ &\leq \frac{(1-\gamma)}{\pi^2 \varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ \left| \frac{8(1-\gamma)}{\pi^2} - \frac{1}{3} - \frac{16(1-\gamma) \varphi_{3,m}(\lambda, \ell, a, c, A)}{\pi^2 \varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu \right| |c_1^2| + 2 |c_2| \right\}. \quad (42) \end{aligned}$$

By applying Lemma 2, we obtain

$$|\mu a_2^2 - a_3| \leq \frac{8(1-\gamma)}{\pi^2 \varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ \frac{4(1-\gamma)}{\pi^2} + \frac{1}{3} - \frac{8(1-\gamma) \varphi_{3,m}(\lambda, \ell, a, c, A)}{\pi^2 \varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu \right\}$$

which is the third part of assertion (37). Finally from (40), we have

$$\begin{aligned} |\mu a_2^2 - a_3| &= \frac{(1-\gamma)}{\pi^2 \varphi_{3,m}(\lambda, \ell, a, c, A)} \left| \left(\frac{8(1-\gamma)}{\pi^2} + \frac{2}{3} - \frac{16(1-\gamma) \varphi_{3,m}(\lambda, \ell, a, c, A)}{\pi^2 \varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu \right) c_1^2 + 2 \left(c_2 - \frac{c_1^2}{2} \right) \right| \\ &\leq \frac{(1-\gamma)}{\pi^2 \varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ \left| \frac{8(1-\gamma)}{\pi^2} + \frac{2}{3} - \frac{16(1-\gamma) \varphi_{3,m}(\lambda, \ell, a, c, A)}{\pi^2 \varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu \right| |c_1|^2 + 2 \left| c_2 - \frac{c_1^2}{2} \right| \right\}. \quad (43) \end{aligned}$$

For $\eta_2 \leq \mu \leq \eta_1$, we have

$$\left| \frac{8(1-\gamma)}{\pi^2} + \frac{2}{3} - \frac{16(1-\gamma) \varphi_{3,m}(\lambda, \ell, a, c, A)}{\pi^2 \varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu \right| \leq 1.$$

By applying Lemma 2 to (43), we obtain

$$|\mu a_2^2 - a_3| \leq \frac{4(1-\gamma)}{\pi^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}, \quad (44)$$

which the second part of (37). Each of the estimates in (37) is sharp for the function $\mathcal{K}(z, \theta, \tau)$ given by (19). \square

Theorem 3. Let the function $f(z)$ given by (1) be in the class $SP_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$ ($0 \leq \gamma < 1; 1 < \beta < \infty$) and let t be the unique positive number in the open interval $(0, 1)$ defined as in introduction. Then

$$|\mu a_2^2 - a_3| \leq \begin{cases} \frac{P_1}{2\varphi_{3,m}(\lambda, \ell, a, c, A)} \left(\frac{2\varphi_{3,m}(\lambda, \ell, a, c, A)P_1}{\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - P_1 - \frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} \right); & \mu \geq \nu_1, \\ \frac{P_1}{2\varphi_{3,m}(\lambda, \ell, a, c, A)} \left(\frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} + P_1 - \frac{2\varphi_{3,m}(\lambda, \ell, a, c, A)P_1}{\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu \right); & \mu \leq \nu_2, \end{cases} \quad (45)$$

where $K(t)$ is Legendre's complete elliptic integral of the first kind, $\varphi_{k,m}(\lambda, \ell, a, c, A)$ and P_1 are given by (11) and (15) respectively, and

$$\nu_1 = \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{2\varphi_{3,m}(\lambda, \ell, a, c, A)P_1} \left(1 + P_1 + \frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} \right), \quad (46)$$

$$\nu_2 = \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{2\varphi_{3,m}(\lambda, \ell, a, c, A)P_1} \left(P_1 - 1 + \frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} \right). \quad (47)$$

Proof. Putting the values of P_1 and P_2 for $1 < \beta < \infty$ from Lemma 1 in (27) and (28), we obtain

$$a_2 = \frac{P_1}{2\varphi_{2,m}(\lambda, \ell, a, c, A)} c_1,$$

and

$$a_3 = \frac{P_1}{4\varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ c_2 - \frac{1}{2} \left(1 - P_1 - \frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} \right) c_1^2 \right\}$$

An easy computation shows that

$$\begin{aligned} |\mu a_2^2 - a_3| &= \frac{P_1}{8\varphi_{3,m}(\lambda, \ell, a, c, A)} \left| \left(\frac{2\varphi_{3,m}(\lambda, \ell, a, c, A)P_1}{\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - P_1 - \frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} + 1 \right) c_1^2 - 2c_2 \right| \\ &\leq \frac{P_1}{8\varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ \left| \frac{2\varphi_{3,m}(\lambda, \ell, a, c, A)P_1}{\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - P_1 - \frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} - 1 \right| |c_1|^2 + 2|c_1^2 - c_2| \right\} \end{aligned} \quad (48)$$

If $\mu \geq \nu_1$, then by applying Lemma 2, we obtain

$$|\mu a_2^2 - a_3| \leq \frac{P_1}{2\varphi_{3,m}(\lambda, \ell, a, c, A)} \left(\frac{2\varphi_{3,m}(\lambda, \ell, a, c, A)P_1}{\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - P_1 - \frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} \right), \quad (49)$$

which is the first part of assertion (45).

Next, if $\mu \leq \nu_2$, then

$$\left(\frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} + P_1 - \frac{2\varphi_{3,m}(\lambda, \ell, a, c, A)P_1}{\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - 1 \right) \geq 0. \quad (50)$$

By applying Lemma 2 in (48), we obtain

$$\begin{aligned} |\mu a_2^2 - a_3| &\leq \frac{P_1}{8\varphi_{3,m}(\lambda,\ell,a,c,A)} \left| \left(\frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} + P_1 - \frac{2\varphi_{3,m}(\lambda,\ell,a,c,A)P_1}{\varphi_{2,m}^2(\lambda,\ell,a,c,A)}\mu - 1 \right) \right| \left| |c_1^2| + 2|c_2| \right| \\ &\leq \frac{P_1}{2\varphi_{3,m}(\lambda,\ell,a,c,A)} \left(\frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} + P_1 - \frac{2\varphi_{3,m}(\lambda,\ell,a,c,A)P_1}{\varphi_{2,m}^2(\lambda,\ell,a,c,A)}\mu \right) \end{aligned}$$

which is the third part of assertion (45). Finally, for $\nu_2 \leq \mu \leq \nu_1$, we have

$$\left| \frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} + P_1 - \frac{2\varphi_{3,m}(\lambda,\ell,a,c,A)P_1}{\varphi_{2,m}^2(\lambda,\ell,a,c,A)}\mu \right| \leq 1.$$

By applying Lemma 2 in (48), we have

$$\begin{aligned} |\mu a_2^2 - a_3| &= \frac{P_1}{8\varphi_{3,m}(\lambda,\ell,a,c,A)} \left| \left(\frac{4K^2(t)(t^2+6t+1)-\pi^2}{24\sqrt{t}K^2(t)(1+t)} + P_1 - \frac{2\varphi_{3,m}(\lambda,\ell,a,c,A)P_1}{\varphi_{2,m}^2(\lambda,\ell,a,c,A)}\mu \right) c_1^2 + 2 \left(c_2 - \frac{c_1^2}{2} \right) \right| \\ &\leq \frac{P_1}{8\varphi_{3,m}(\lambda,\ell,a,c,A)} \left\{ |c_1|^2 + 2 \left| c_2 - \frac{c_1^2}{2} \right| \right\} \\ &\leq \frac{P_1}{2\varphi_{3,m}(\lambda,\ell,a,c,A)} \end{aligned}$$

which is the second part of (45). Each of the estimates in (45) is sharp for the function $\mathcal{K}(z, \theta, \tau)$ given by (19). \square

Theorem 4. Let the function $f(z)$ given by (1) be in the class $SP_{\lambda,\ell}^m(a, c, A, \beta, \gamma)$ ($0 \leq \gamma < 1; 0 \leq \beta < 1$).

Then

$$\begin{aligned} |\mu a_2^2 - a_3| + \left\{ \mu - \frac{\varphi_{2,m}^2(\lambda,\ell,a,c,A)}{12(1-\gamma)\varphi_{3,m}(\lambda,\ell,a,c,A)} \left[(7-6\gamma-\beta^2) - \frac{1-\beta^2}{\theta^2} \right] \right\} |a_2|^2 \\ \leq \frac{(1-\gamma)\theta^2}{(1-\beta^2)\varphi_{3,m}(\lambda,\ell,a,c,A)}; \quad \eta_2 \leq \mu < \eta_3, \end{aligned} \tag{51}$$

and

$$\begin{aligned} |\mu a_2^2 - a_3| + \left\{ \frac{\varphi_{2,m}^2(\lambda,\ell,a,c,A)}{12(1-\gamma)\varphi_{3,m}(\lambda,\ell,a,c,A)} \left[\frac{5(1-\beta^2)}{\theta^2} + (7-6\gamma-\beta^2) \right] - \mu \right\} |a_2|^2 \\ \leq \frac{(1-\gamma)\theta^2}{(1-\beta^2)\varphi_{3,m}(\lambda,\ell,a,c,A)}; \quad \eta_3 \leq \mu < \eta_1, \end{aligned} \tag{52}$$

where $\varphi_{k,m}(\lambda, \ell, a, c, A)$, θ , η_1 and η_2 are given by (11), (17),(21) and (22) respectively, and

$$\eta_3 = \frac{(1-\beta^2)\varphi_{2,m}^2(\lambda,\ell,a,c,A)}{12(1-\gamma)\theta^2\varphi_{3,m}(\lambda,\ell,a,c,A)} \left(2 + \frac{(7-6\gamma-\beta^2)\theta^2}{(1-\beta^2)} \right). \tag{53}$$

Proof. Suppose $0 \leq \beta < 1$ and $\eta_2 \leq \mu < \eta_3$. Using (35) for $|\mu a_2^2 - a_3|$ and (29) for $|a_2|$, we have $|\mu a_2^2 - a_3| + (\mu - \eta_2)|a_2|^2 = |\mu a_2^2 - a_3|$

$$\begin{aligned} &+ \left\{ \mu - \frac{\varphi_{2,m}^2(\lambda,\ell,a,c,A)}{12(1-\gamma)\varphi_{3,m}(\lambda,\ell,a,c,A)} \left((7-6\gamma-\beta^2) - \frac{(1-\beta^2)}{\theta^2} \right) \right\} |a_2|^2 \\ &\leq \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda,\ell,a,c,A)} \left\{ \left| \frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} + \frac{2}{3} - \frac{4(1-\gamma)\theta^2\varphi_{3,m}(\lambda,\ell,a,c,A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda,\ell,a,c,A)}\mu \right| |c_1|^2 + 2 \left| c_2 - \frac{c_1^2}{2} \right| \right\} \\ &+ \left\{ \mu - \frac{\varphi_{2,m}^2(\lambda,\ell,a,c,A)}{12(1-\gamma)\varphi_{3,m}(\lambda,\ell,a,c,A)} \left((7-6\gamma-\beta^2) - \frac{(1-\beta^2)}{\theta^2} \right) \right\} \left(\frac{(1-\gamma)^2\theta^4}{\varphi_{2,m}^2(\lambda,\ell,a,c,A)(1-\beta^2)^2} \right) |c_1|^2 \\ &= \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda,\ell,a,c,A)} \left\{ 2 \left| c_2 - \frac{c_1^2}{2} \right| + \left| \frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} + \frac{2}{3} - \frac{4(1-\gamma)\theta^2\varphi_{3,m}(\lambda,\ell,a,c,A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda,\ell,a,c,A)}\mu \right| |c_1|^2 \right\} \end{aligned}$$

$$+ \left(\frac{4(1-\gamma)\theta^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - \frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} + \frac{1}{3} \right) |c_1|^2 \Big\}.$$

Observe that, since $\mu < \eta_3$

$$\frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} + \frac{2}{3} - \frac{4(1-\gamma)\theta^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu \geq 0$$

Therefore, by using Lemma 2, we obtain

$$|\mu a_2^2 - a_3| + \left\{ \mu - \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{12(1-\gamma)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left((7-6\gamma-\beta^2) - \frac{(1-\beta^2)}{\theta^2} \right) \right\} |a_2|^2$$

$$\leq \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ |c_1|^2 + 2 \left| c_2 - \frac{c_1^2}{2} \right| \right\}$$

$$\leq \frac{(1-\gamma)\theta^2}{(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} (\eta_2 \leq \mu < \eta_3),$$

which proves (51). Similarly, for the value of μ given in (52), we get

$$|\mu a_2^2 - a_3| + \left\{ \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{12(1-\gamma)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left((7-6\gamma-\beta^2) - \frac{5(1-\beta^2)}{\theta^2} \right) - \mu \right\} |a_2|^2$$

$$\leq \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ \left| \frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} + \frac{2}{3} - \frac{4(1-\gamma)\theta^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu \right| |c_1|^2 + 2 \left| c_2 - \frac{c_1^2}{2} \right| \right\}$$

$$+ \left\{ \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{12(1-\gamma)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left((7-6\gamma-\beta^2) + \frac{5(1-\beta^2)}{\theta^2} \right) - \mu \right\} \left(\frac{(1-\gamma)^2 \theta^4}{\varphi_{2,m}^2(\lambda, \ell, a, c, A)(1-\beta^2)^2} \right) |c_1|^2$$

$$= \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ 2 \left| c_2 - \frac{c_1^2}{2} \right| + \left| \frac{4(1-\gamma)\theta^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - \frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} - \frac{2}{3} \right| |c_1|^2 \right\}$$

$$+ \left(-\frac{4(1-\gamma)\theta^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu + \frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} + \frac{5}{3} \right) |c_1|^2 \Big\}.$$

Since $\mu \geq \eta_3$,

$$\frac{4(1-\gamma)\theta^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}{(1-\beta^2)\varphi_{2,m}^2(\lambda, \ell, a, c, A)} \mu - \frac{(7-6\gamma-\beta^2)\theta^2}{3(1-\beta^2)} - \frac{2}{3} \geq 0$$

and by using Lemma 2, we get

$$|\mu a_2^2 - a_3| + \left\{ \mu - \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{12(1-\gamma)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left((7-6\gamma-\beta^2) - \frac{(1-\beta^2)}{\theta^2} \right) \right\} |a_2|^2$$

$$\leq \frac{(1-\gamma)\theta^2}{4(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} \left\{ |c_1|^2 + 2 \left| c_2 - \frac{c_1^2}{2} \right| \right\}$$

$$\leq \frac{(1-\gamma)\theta^2}{(1-\beta^2)\varphi_{3,m}(\lambda, \ell, a, c, A)} (\mu \geq \eta_3),$$

which proves (52). The proof of Theorem 4 is completed. \square

Theorem 5. Let the function $f(z)$ given by (1) be in the class $SP_{\lambda, \ell}^m(a, c, A, \beta, \gamma)$ ($0 \leq \gamma < 1; \beta = 1$).

Then

$$|\mu a_2^2 - a_3| + \left\{ \mu - \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{2\varphi_{3,m}(\lambda, \ell, a, c, A)} \left[1 - \frac{\pi^2}{24(1-\gamma)} \right] \right\} |a_2|^2 \tag{54}$$

$$\leq \frac{24(1-\gamma)}{\pi^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}; \quad \delta_2 \leq \mu < \delta_3,$$

and

$$|\mu a_2^2 - a_3| + \left\{ \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{2\varphi_{3,m}(\lambda, \ell, a, c, A)} \left[1 + \frac{5\pi^2}{24(1-\gamma)} \right] - \mu \right\} |a_2|^2 \tag{55}$$

$$\leq \frac{4(1-\gamma)}{\pi^2 \varphi_{3,m}(\lambda, \ell, a, c, A)}; \quad \delta_3 \leq \mu < \delta_1,$$

where $\varphi_{k,m}(\lambda, \ell, a, c, A)$, δ_1 and δ_2 are given by (11), (38) and (39) respectively, and

$$\delta_3 = \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{2\varphi_{3,m}(\lambda, \ell, a, c, A)} \left(1 + \frac{\pi^2}{12(1-\gamma)} \right). \tag{56}$$

Theorem 6. Let the function $f(z)$ given by (1) be in the class $SP_{\lambda, \ell}^m(a, c, A, \beta, \gamma)$ ($0 \leq \gamma < 1; 1 < \beta < \infty$) and let t be the unique positive number in the open interval

(0, 1) defined as in introduction. Then

$$\begin{aligned} & \left| \mu a_2^2 - a_3 \right| + \left\{ \mu - \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{2\varphi_{3,m}(\lambda, \ell, a, c, A)P_1} \left(P_1 + \frac{4K^2(t)(t^2 + 6t + 1) - \pi^2}{24\sqrt{t}K^2(t)(1+t)} - 1 \right) \right\} |a_2|^2 \\ & \leq \frac{P_1}{2\varphi_{3,m}(\lambda, \ell, a, c, A)}; \nu_2 \leq \mu \leq \nu_3 \end{aligned} \quad (57)$$

and

$$\begin{aligned} & \left| \mu a_2^2 - a_3 \right| + \left\{ \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{2\varphi_{3,m}(\lambda, \ell, a, c, A)P_1} \left(1 + P_1 + \frac{4K^2(t)(t^2 + 6t + 1) - \pi^2}{24\sqrt{t}K^2(t)(1+t)} - \mu \right) \right\} |a_2|^2 \\ & \leq \frac{P_1}{2\varphi_{3,m}(\lambda, \ell, a, c, A)}; \nu_3 \leq \mu \leq \nu_1 \end{aligned} \quad (58)$$

where $K(t)$ is Legendre's complete elliptic integral of the first kind, $\varphi_{k,m}(\lambda, \ell, a, c, A)$, P_1 , ν_1 and ν_2 are given by (11), (15), (46) and (47), respectively, and

$$\nu_3 = \frac{\varphi_{2,m}^2(\lambda, \ell, a, c, A)}{2\varphi_{3,m}(\lambda, \ell, a, c, A)P_1} \left(P_1 + \frac{4K^2(t)(t^2 + 6t + 1) - \pi^2}{24\sqrt{t}K^2(t)(1+t)} \right). \quad (59)$$

The proof of Theorem 5 and Theorem 6 is similar to that of Theorem 4, except for obvious changes. Hence, we omit the details.

Remark 1. (i) Taking $\ell = 0$, $a = c$ and $m = 1$ in our main results, we obtain the results obtained by Orhan et al. [26], with $\alpha = \mu = 0$.

(ii) Taking $\ell = \gamma = \lambda = 0$, $a = c$ and $m = 1$ in Theorems 2 and 5, we obtain the results obtained by Srivastava and Mishra [36].

(iii) Taking $\ell = \gamma = 0$, $a = c$ and $m = \lambda = 1$ in Theorems 2, we obtain the results obtained by Ma and Minda [22].

(iv) Taking $\ell = \gamma = \beta = \lambda$, $a = c$ and $m = 1$ in Theorems 1, we obtain the results obtained by Srivastava et al. [35], with $\alpha = 0$.

(v) Taking $\ell = \lambda = \gamma = 0$, $a = c$ and $m = 1$ in all our main results, we obtain the results obtained by Mishra and Gochhayat [25], with $\alpha = 0$.

(vi) Taking special cases of $\lambda, \ell, a, c, A, m, \gamma$ and β in all our main results, we obtain new results.

REFERENCES

- [1] R. Aghalary and GH. Azadi, The Dziok- Srivastava operator and k-uniformly starlike functions, J. Inequal. Pure Appl. Math, 6 (2005), no. 2, Art. 52, 1-7.
- [2] F. M. Al-Oboudi, On univalent functions defined by a generalized Salagean operator, Indian J. Math. Math. Sci., 25-28 (2004), 1429-1436.
- [3] F.M. Al-Oboudi, K.A. Al-Amoudi, On classes of analytic functions related to conic domains, J. Math. Anal. Appl., 339 (2008), 655- 667.
- [4] S.D. Bernardi, Convex and starlike univalent functions, Trans. Amer. Math. Soc., 135 (1969), 429-446.
- [5] R. Bharti, R. Parvatham and A. Swaminathan, On subclasses of uniformly convex functions and corresponding class of starlike functions, Tamkang J. Math., 28 (1997), 17-32.
- [6] A. Catas, On a certain differential sandwich theorem associated with a new generalized derivative operator, General Math., 17 (2009), no. 4, 83-95.
- [7] Chun-Yi Gao, Shao-Mou Yuan and H. M. Srivastava, Some functional inequalities and inclusion relationships associated with certain families of integral operators, Comput. Math. Appl., 49 (2005), 1787-1795.

- [8] R. M. El-Ashwah and M. K. Aouf, Differential subordination and superordination for certain subclasses of analytic functions involving an extended integral operator, *Acta Univ. Apulensis*, 28 (2011), 341-350.
- [9] R. M. El-Ashwah and M. K. Aouf, Some properties of new integral operator, *Acta Univ. Apulensis*, 24 (2010), 51-61.
- [10] R. M. EL-Ashwah and M. E. Drbuk, Inclusion relations for uniformly certain classes of analytic functions, *Int. J. Open Problems Complex Anal.*, 7 (2015), no. 1, 1-17.
- [11] M. Fekete and G. Szego, Eine Bemerkung uber ungerade schlichte Functionen, *J. London Math. Soc.*, 8 (1933), 85-89 (in German).
- [12] A. W. Goodman, On uniformly convex functions, *Ann. Polon. Math.*, 56 (1991), 87-92.
- [13] A. W. Goodman, On uniformly starlike functions. *J. Math. Anal. Appl.*, 155 (1991), 364-370.
- [14] I. B. Jung, Y. C. Kim and H. M. Srivastava, The Hardy space of analytic functions associated with certain one-parameter families of integral operators, *J. Math. Anal. Appl.*, 176 (1993), 138-147.
- [15] S. Kanas, Coefficient estimates in subclasses of the Caratheodory class related to conical domains, *Acta Math. Univ. Comenian*, LXXIV (2005), no. 2, 149-161.
- [16] S. Kanas and T. Yaguchi, Subclasses of k-uniform convex and starlike functions defined by generalized derivative, I, *Indian J. Pure Appl. Math.*, 32 (2001), no. 9, 1275-1282.
- [17] S. Kanas and A. Wisniowska, Conic domains and starlike functions, *Rev. Roumaine Math. Pures Appl.*, 45 (2000), 647-657.
- [18] S. Kanas and A. Wisniowska, Conic regions and k-uniform convexity, *J. Comput. Appl. Math.* 105 (1999), 327-336.
- [19] F. R. Keogh and Merkes, A coefficient inequality for certain classes of analytic functions, *Proc. Amer. Math. Soc.*, 20 (1969), 8-12.
- [20] Y. Komatu, On analytical prolongation of a family of operators, *Math. (Cluj)*, 32 (1990), no. 55, 141-145.
- [21] W. Ma and D. Minda, Uniformly convex functions, *Ann. Polon. Math.*, 57 (1992), no. 2, 165-175.
- [22] W. Ma and D. Minda, Uniformly convex functions II, *Ann. Polon. Math.* 58 (1993), 275-285.
- [23] S. S. Miller and P. T. Mocanu, *Differential Subordinations: Theory and Applications*, Series on Monographs and Text books in Pure and Appl. Math., (2000), no. 255 Marcel Dekker, Inc., New York.
- [24] A. K. Mishra and P. Gochhayat, Applications of the Owa Srivastava operator to the class of k-uniformly convex functions, *Fract. Calc. Appl. Anal.*, 9 (2006), no. 4.
- [25] A. K. Mishra and P. Gochhayat, The Fekete Szego problem for k-uniformly convex functions and for a class defined by Owa Srivastava operator, *J. Math. Anal. Appl.*, 347 (2008), 563-572.
- [26] H. Orhan, E. Deniz and D. Raducanu, The Fekete-Szego problem for subclasses of analytic functions defined by a differential operator related to conic domains, *Comput. Math. Appl.*, 59 (2010), 283-295.
- [27] R. K. Raina and P. Sharma, Subordination preserving properties associated with a class of operators, *Le Matematiche*, 68 (2013), 217-228.
- [28] V. Ravichandran, M. Darus, M. H. Khan and K. G. Subramanian, Fekete-Szego inequality for certain class of analytic functions, *Aust. J. Math. Anal. Appl.*, 1 (2004), no. 2, Art. 4-7.
- [29] V. Ravichandran, A. Gangadharam and M. Darus, Fekete-Szego inequality for certain class of Bazilevic functions, *Far East J. Math. Sci. (FJMS)*, 15 (2004), no.2, 171-180.
- [30] M. S. Robertson, On the theory of univalent functions, *Ann. Math. J.*, 37 (1936), 374-408.
- [31] F. Ronning, Uniformly convex functions and a corresponding class of starlike functions, *Proc. Amer. Math. Soc.*, 118 (1993), 189-196.
- [32] G. S. Salagean, Subclasses of univalent functions, in: *Complex Analysis Proc. 5th Rom.-Finn. Semin.*, Bucharest 1981, Part 1, in: *Lect. Notes Math.*, 1013 (1983), 362-372.
- [33] C. Selvaraj and K. R. Karthikeyan, Differential subordination and superordination for analytic functions defined using a family of generalized differential operators, *An. St. Univ. Ovidius Constanta*, 17 (2009), no. 1, 201-210.
- [34] S. Sivaprasad Kumar and Virenda Kumar, Fekete-Szego inequality for certain class of analytic functions, *Stud. Univ. Babeş-Bolyai Math.*, 58 (2013), no.2, 181-188.
- [35] H.M. Srivastava, A.K. Mishra and M.K. Das, A nested class of analytic functions defined by fractional calculus, *Commun. Appl. Anal.*, 2 (1998), no. 3, 321-332.

- [36] H.M. Srivastava and A.K. Mishra, Applications of fractional calculus to parabolic starlike and uniformly convex functions, *Comput. Math. Appl.*, 39 (2000), 57-69.
- [37] H.M. Srivastava and S. Owa (Eds.), *Current Topics in Analytic Function Theory*, World Scientific Publishing Company, Singapore, New Jersey, London, Hong Kong, (1992).

R. M. EL-ASHWAH, M. E. DRBUK, DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE,
DAMIETTA, UNIVERSITY NEW DAMIETTA 34517, EGYPT

E-mail address: `r_elashwah@yahoo.com`, `drbuk2@yahoo.com`